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AEXR HEFHES

1 EESAE 1
D AREERAE HHAL, KAEHEL 64 / 50 m 2

2. A S 1
1) fEZETE 1.0
2) Mk E 1.0
3) NHEFEDEE A= 0.677
4) THOEFREHAE A= 0.677
b) R EHERFE (L% A= 0.677
6) NHFEES EHRIEMR A= 0.677
7) WBAENES 0e7 x FEE 0.3 A= 0.203
8) ELhlE w7 x FEE 0.3 A= 0.203
9) AR A= 0.312
10) FHbIZHR 7 S REREAEM A= 0.312
1) #BWEERDHRE A= 0.312
12) ERAS A= 0.312
13) AtiE R IRFE A= 0.312
14) BRAEAE A= 0.312
15) EREEHE A= 0.312
16) FA#th 32 380 B & B E AR A= 0.312
17) Fatth S m e AL A= 0.312

18) +H#hFAEAER A= 0.312




AEXR HEFHES

19) BEEHER 1 =

1. iz BAYE AR N= 3 i

2. RIS MIER N= 3 i

3 THERERESIER N= 3 i
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